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Wallace&Gromit: A close shave

EPISODE 4. CRIME AND PUNISHMENT (SECTION 1-2)

1) Complete the sentences with Wallace/Gromit/Wendolene/Shaun/Preston.

Episode 1

________ was still awake. He was knitting when a lorry stopped outside. ________ 

escaped from the lorry and went  into _________’s house. ___________ was 

driving the lorry, and _________ was with him. ________ wanted to catch 

________, but ________ stopped him. The next day, _______ phoned ________. 

She asked _______ to clean her windows.
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Episode 2

__________  met _________ for the first time, and it was love 

at first sight. There was a wool shortage because of sheep 

rustlers but _________’s shop had  a lot of wool. _______ went 

to _________’s house  and hid in the cellar. When __________ 

and __________ arrived home, the house was in a mess. 

________ was in the kitchen.

Episode 3

_________ took the plan of Knit-O-Matic. Someone took a 

photograph of __________ and __________. __________ went 

into the room, but ________ wasn’t there. _________ found a 

tin of _______’s Dog food. Then he heard __________. He was 

in the lorry! ______________ rescued ________, but the lorry 

drove away with__________ inside.
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2) Answer the questions:

1. Why is Wendolene crying?

2. What’s in the parcel?

3. Who’s in prison?

4. Who has Wallace just seen when he closed his mouth with his 

hand?

5. Who has hit Preston?

3) False/True:
1. The police have arrested Gromit.
2. Gromit murdered a sheep.
3. Gromit’s head is in the photograph.
4. Gromit’s body is in the photograph.
5. The photograph is a fake.
6. Wallace believes that Gromit is guilty.
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